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Two cars are moving withspeedsVy Y, towards
s from

crossing along two roads. If their distance
the crossing be 40 metres and 50 mgtre§ atan
instant of time, then they do not collide if their

speeds are such that
(A) ViV, #5¢ 4
(C) v,iv, = 25:16

(8) vlzv2#4:5
(D) ViV, = 16: 25

find the missing number.

5 | 6 | 7

3 4 5

9 10 | 11

345 | 460 | ?
(A) 461 (B) 350
(C) 577 (D) 346

in Microsoft Office are used
to insert effects between slides. They are
also used to indicate 3 new section of a
presentation or to emphasize a certain slide.

(A) Drawing toolbar (B) Logos
(C) Transition effects (D) None of these

Facing towards south, Ram started walking
and turned left after walking 30 m, he walked
25 m and turned left and walked further 30 m.
How far is he from his starting position and in

which direction ?

(A) Atthe starting point

(8) 30 m east Hyo )
(C) 25 m west ‘
(D) 25 m east

The four arithmetic means between 3 and 23
are
(A) 5,9,11,13

(8) 7,11,15,19

(C) 5,11,15,22 (D) None of these
Which flowers are also called bilaterally
symmetrical ?

(A) Regular (B) Zygomorphic

(D) Actinomorphic
figure 7

(C) Asymmetrical
How many triangles are there in the given

(A) 12 (B) 14
(C) 10 (D) 8

3 5 21 40
ey o 3 T €T
(A) vl:v2¢5:4

(C) V4V, = 25:16

(B}'v1:v2¢4:5
(D) ViV, = 16: 25

' cadl
q ged 14 b
5 6
3 4 5
9 10 11 %
345 | 460 ? Ol=0
(A) 461 (B) 350
(Che577 (D) 346

eI AT | 1 YT T
3 < 9T ST ¥ T forAT S & | 9 A
@mﬁ%@mmﬁaﬁm@ﬁﬁaﬁ

weTeg St 2 & fora foven e @ |
N ESUESEL (B)~wmT
(C) e e (D) 38 | F13 7@

@ﬁwwm@mim%mw
;'Eg_: L;:’::'ﬁaﬁﬁ%ma% 25t e 3
? 30 Y. 91 | 98 AR
amgw%ﬁm%ﬁ fetd

(A) 3mifir fig @
(8) 307 7
(C) 25 . ufyem

(D) 2571, qd

3 3l 23 % dfta aw sty e 3

A
(A) 5,9, 11, 13 (8) 7,11, 15,19

(©) s, 11,15,22 (D) 8 Q & 7
A Getl 1 argetereh femfrarer Wt e s 2 7

(:cq :g:;[ (8) Sisitfes

(C) ?:?fﬂ (D) vfaeamifts

fw o fevt 0 favert fang & 7
)

(A) 12 o

¥ m
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8.

10.

11.

12,

13.

T
calls to the signer’s attention t

is the act of signing @ document
owards the legal

of the signer’s act and thereby

significance
e engagements.

helps preventing inconsiderat
(A) Evidence

(B) Logistics

(C) Ceremony

(D) Approval

is a multi-disciplinary

organisation tasked with investing
and prosecuting cases under PMLA.

(A) Central Bureau of Investigation (CBI)
(B) Enforcement Directorate (ED)

(C) Crime Investigation Department (CID)
(D) None of these

Which pattern most closely resembles the
following pattern ?

1
(A) 3 (8) 2
(€)1 (D) 4

The maximum speed of a particle executing
SHM is 10ms™ and maximum acceleration it
31.4ms2. Its periodic time is

(A) 2s (B) 1s
(C) 4s (D) 6s

The most effectively used device for removing

particulate matter is
(A) Catalytic converter
(B) Smelters

(C) Scrubber
(D) Electrostatic precipitator

The Operating System that allows only ont
un ata timels

(8) Multitasking
(D) _Emhedded

program tor
(A) Batch processlng
(&) Real timne



~ 1%, The summer grasslands in the higher reaches

of Himalaya is called as

=2

16.

17,

18.

19,

20.

21.

22.

Y18

(A) Chaurs

(B) Terai

(C) Bugyals (D) None of the above

A can complete 1/3 of a work in 5 days and B,
2/5 of the work in 10 days. In how many days

both A and B together can complete the work ?
|
(A) 10 days (B) 75 days

4
(C) 92 days (D) 8— days
8 5

When was the Bandung conference held ?

(A) 1945 (B) 1955
(C) 1948 (D) 1954

The ratio between the ages of Kamal

and Savita is 6 : 5 and the sum of
their ages is 44 years. The ratio of
their ages after 8 years will be

(A) 5:6 (B) 14:13
(C) 8:7 (D) 7:8

Indian-origin American who has become the
youngest-ever chess Grandmaster in the world is

(A) Abhimanyu Mishra (B) Amit Pratab

(C) Suraj Patel (D) Abhinav Rana

is used in perfumery and in dye
industries.
(A) Acetaldehyde (B) Phthaldehyde
(C) Formaldehyde (D) Benzaldehyde
Find the missing term in the following series.
400, 441, 484, 529, 576,
(A) 676 (B) 636
(C) 625 (D) 598

If you want to put a copy of the file in a new
location, create a new copy with a new name,
or change the file type, then use

option. |
(B) Edit

A) Save

((C= Save as (D) Open

The amendment of the Indian Constitution

hich inserted the list of Fundartnental Duties
) 44" (8) 61"
() 24" (D) 42

14. TEHIE &1 F4RE aid U9 919 % 021

16.

17.

18.

19.

20.

AT 8
(A) <& (B) WE
(C). gt (D) 39T 4 @
15. A et % %1 1/3 v 5 1 F afk B,
2/svm oA d quamaFm 1At
& % fore fai & g o g € 7
A) 10 fem g) 71 o
(A) (B) : f&= ﬁ%
(C)'géﬁq (D) ssfﬁq
g7 AETH Fa g1 41 7
(A)-1945 (B) 1955
(C) 1948 (D) 1954
A 3R wfad A g F1 IEIE 6: 5 2
39t AT F AN 443 R | 8 S AZ I -
1 T B
(A) 5:6 (B).14:13
(C) 8:7 (D) 7:8
W gt & Fufehl A fava § gag 9 3
YIS TTEaRT & §
(A) rfim=y firsn (B) 37f4a wam
(C) & 2w (D), 3Afy=a Tom
g AR IEm Ay A R
(A) THtfegeTd (B), wfcsess
(C) winifegrrdz (D) Ffegerss
Frerferfaa saen # g ve % g |
400, 441, 484, 529, 576,
(A) 676 (B) 636
(C). 625 (D) 598

21.

22.

MR 39 Frge Y ww R wE 7§ Srafrd § v
aed ¥, © QA F wiw ww 7§ IR T

1 B &1 waR |zfere, f6 g 1
&ty | |

(A) Save (8)* Edit

(C) Save as (D) Open

e w@faum & g gaea § difers

st &) e greh é 7 .

(A) 44 (B) 6131

(C) 24dl (D) 4271
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23. A - B means A is the daughter of B. A - B
=me2ns A is the husband of B. AxB means A is
__the brother of B.
= If 7+ Q- R, which of the following is true ?

= (A) Ris the mother of P
(8) Ris the mother-in-law of P
* 1) Ris the sister-in-law of P

“ In) Risthe aunt of P

# 1

26 Z3l-Mediated Immunity (CMI) is mediated by

o} ' (A) T-lymphocytes
%@ (C) B-lymphocytes
25. The term used for ‘fintech firms’ with only a
digital presence and no physical branches is
(A) Neo-bank (B) Bank

(C) Geo-bank (D) Pseudo-bank
Witchweeds is a

(A) Parasitic

(B) Act as predator

(C) Symbiotic

(D) None of the above

(B) Mast cells
(D) Erythrocytes

26.

27. spread when users are convinced

to open or download a program because they
think it has come from a legitimate source.
(A) Worm (B) Trojan horse

(C) Logic bomb (D) Trapdoor

Mekong Ganga Cooperation is as per Indian
Policy of

(A) Act West
(C) Act North

(B) Act East
(D) Act South

29. Foreign Exchange Regulations Act, 1973 deals
with

(A) Foreign Contribution Manipulations

(B) Money Laundering

(C) Fraudulent Bankruptcy

(D) Racketeering in False Travel Documents

In a certain code, ‘ADDITION’ is written as
‘ZWWRGRLM’, How Is "HORRIBLE" written In
that code ?

(A) SLIRIYOV

(C) SLIIYROV

(B) SLIROYV
(D) SLIRYOV

25.

27.
28.

29,

30.

i

23,

24,

A+BHR U RABH G2 | A-par o 2
ABFIUMAR | AxB 1 3 R A BT W 3 |
“ﬁNQ—R,ﬂﬂﬁrﬁaﬁﬁﬁaﬂq—mm%?
(A) R, Pehl HraT 2

(B\ R, Pl @TH 2

(C) R, P T2 2

(D) R, Pl a7 2

Fiftw-arfea fduFa (o) T
aifga et 2 |

(A) AA-ferpramse (B)* BT Fiforard
(C) sft-ferpmmmee (D) vfrararEz

et fesfreet Iufeafaareh i i sman i
Toew ol F fom vy sz 2

(A) Frm-f (B) ¥

(c).fmar-a= (D) FEI-F=%
frerfign o= 2

(A) gt
1(8) ferrrdt % v i 7 =t

(C) gt

(D) IwEd & | F1d 78

W@maﬁaﬁwmmwﬁ%%ﬂ
S %1 FAferd #0F ar Sheren 2, wih 3 5y

2 % 78 v adwma we @ s 2

(A) aid (B)« 21917 7T

(C) wiferer aemy (D) ¥vzn

R -7 FEE wed ¥
IFTERR |

(A) TR FR (B). U ¥

(C) e e (D) Ua WY

faeeh fafom fafiem sifafom, 1073 a
gafed 8 | h
(A) faeft armerm R

CERUDE

(C) wt@wd fanferuga

M GGEETESIEEIERE A

s g2 § ‘ADDITION' ®1 ZWWRGRLM' féran
o1 R | 'HORRIBLE' ®) 30 2 & &} foran
s 7

(A) SLIRIYOV
(C) SLUYROV

(8) SLIROYV
| () SLIRYOV

Y18
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31

32,

33.

35.

36.

37.

38,

0

bk 1%
By (C) 22
R(?BE] ) May

Y18

i ¢ found "
h one of the following are N0
hic
Kerala forests ? o
b e ds (D) glephants

(c) Snow 1eoP?"

which two months in @ y

calendar? .r
(A) Juné October g] %
(B) October, pecember o
Q) april, November

(D) April, July

is shortcut key to cut the text.

(8) ctrl +C

R
(A) ctrl +2Z
() ctrl +Y

(C) ctrl + X
The ostensible purpose of the invasion of
us-led coalition on fraq in 2003 was
(A) to prevent Iraq from attacking on Kuwait
(8) to prevent Irad from developing
weapons of mass destruction
(C) to prevent Iraq from developing
hostilities with other countries
(D) toend the rule of Saddam Hussein

The following question is based on the series.
ABCDEFGHIJKLMNOPQRSTUVWXYZ
Which letter is the 7" to the right of the

13" letter from your left ?

(A) S (8) T

Qv (D) U

How many numbers can be made with the
digits 3,4, 5,6, 7, 8 lying between 3000 and
4000 which are divisible by 5 while repetition
of any digit is not allowed in any number ?

(A) 60 (B) 12
(C) 24 (D) 120

is a portion of a program in some
stage of execution.
(A) Quantum
(C) File

(B) Directory
(D) Process

Human'Rights Day is observed by the
International Community every year on

(A) 10" December (B) 14™February
(D) None of the above

33.

35.

36.

37.

38.

prferfiaa 3 #
s ? (B) =™
(A) ﬁqﬂ"“% (o) &<l
() Foret g7
gt & AT o
) T
~ g) s,
(C)??Tﬁﬂ,m‘):
(D) e, T
g %sfé‘«maﬁq”iﬁﬁg'
(A) ctrl +Z (Be ctrl +
() ctrl +X (D) ctrl +Y
aﬁzmsﬁmmuﬁﬂﬁaﬁm@ EEA F
wmﬂﬂﬁw
(A)m-q,-a,}g;aaqt F A THAT
(B,maamqj%afawm%m A

T

(©) maﬁm%ﬁﬁ%mwmmﬂw

R
(o)mgﬂ:%mﬂaﬁ‘lmm
frefifaa s ABCDEFGHIJKLMNOPQ
RSTUVWXYZ o@e 9 mTid # |
sk ard & 13 avi & and 7 &t avf - Em 7
(A) S (B) T
(€ v (D) U

3000

ﬁﬁa:anm'm*mﬁ“l 4,5, 6,7, 8 3
0 R 1 3 o o e
S TR 7 HF & gy

(A)*60
(C) 24 (B) 12
- (D) 120
(A) ¥|ETeH
(C) FTEE (‘g: m!mi?feﬂ

i
mmﬂlﬁrﬂm“m“ﬁm&aﬂﬁ

(A) 10 R

(€) 228 (B) 14%wEh
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E‘} CMES - 54
3
39, _ The negative relationship between price of a

E?g @a@%{aaﬂtmaﬁr@m%aﬁa

“° " commodity and quantity demanded, which is mm Fea 2 |
- | «referred to as = u——
= = (A) Law of supply (A) am{ﬁawﬁun
= (B) Law of consumption (BP@HWﬁW
7 (C) Law of demand (C) win %1 fAaw
(D) Law of diminishing marginal utility (D) 5t wifsiaet yaTsgar %1 fam

4C, How much angle does a minute hand of a clock

44.  Which one of the following country is not a
permanent member of UN Security Council ?

(B) Japan
(D) England

(A) France
(C) China

45. The difference between two numbers !s
9 and the difference between their squares Is

40. 5 TS I B ATCAT GF 250 FI0 T B, A

“* cover in the same time in which the hour hand udt 1 fire areft 4 foamn o = 2 ?
" of the clock covers an angle of 25° ? ' g ;
(A) 300° (B) 150° (A) 300° (B) 150°
(C) 50° (D) 240° (C) 50° (D) 240°
41. Where was Garibaldi born ? 41, TETcE F1 S Fal g !
(A) Piedmont (B) Nice (A) Femie (B) 758
(C) Sardinia (D) Genoa (C) |afefan (D)+StraT
42. Which of the following attribute/s are important | 42, fifoRga & @ F=-T1 o1/ farsrard
in determining the dominant status of a caste ? wifa H ferfy =1 fyfor =@
(A) Numerical strength :"m-gacLuf ?
(B) Political Power (A) HEITHF dTha
(C) Economic power through ownership of (B). faret |
land (C) Yy % wnfires & wrem | snfifs wfFw
(D) All of the above (D) I9tiEa ot
a3. aba ba ab 43, o aba ba ab
(A) abbba (B) bbaba (A) abbba (B) bbaba
(C) abbab (D) baabb (C). abbab (D) baabb

44, Trafafd § & #-w 2 agFa o guEn gfiee
1 Tt ga AE R 7

(A) %I (8) ST
() & (D) T

45. T &Il F1 A 9 @ 3R ITE I F A9 F;
3t 207 @, mﬂz’hﬁ

1¥® 207. The numbers are Al 17,8 ; 16 ,
(A) 17,8 (8) 16,7 (A) /48 ¢
(C) 23,14 (D) 15,6 (C) 23,14 (D) 15,6
46. B-cells of Pancrease secrete 46. ?:Tm &1 B-aifyrTd = qifad FTt R |
(A) Glucagon (B) Vasopressin LS CAE] !
(C) Insulin (D) ADH (C) T (D)~ ADH
47. What is the total term of non-permanent 47. d’gﬂﬂﬂg‘ﬁtmqﬂwﬁ;ﬁ%{qgﬁm eyt gEl
members elected for the United Nations Wﬁmﬁﬁmﬁ?
Security Council ? (A)o & ad (B) o7 ad
(B) Three years
(A) Two years 0 at o @;a&

(C) Ten years (D) One year

Y18
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2

g first coined by
he term ‘Geography was
® TlA] Humboldt (B) Eratosthenese

(C) immanuel Kant (D) Ptolemy

49. In which Aestivation the members of : w;::er:
(sepals orf petals) lie close t‘o eac‘ o?
without any overlapping of their ‘margms .

(A) Valvate (B) Vexﬂl.aw
(C) Twisted (D) Imbricate

50. It refers to any significant alteration
over time in behaviour patterns
and cultural values and norms

(A) Orthogenetic change
(B) Social change

(C) Heterogenetic change
(D) All of the above

51. Adipose tissue is a reservoir of stored
(A) Protein (B) Minerals
(C) Vitamin (D) Energy

52. Consider the following statements about
National Sample Survey Organisation (NSSO).
I. Itis an organisation under the =~
Ministry of Statistics and Programme

Implementation of the Government of
India.

Il. 1t was established in 1970.
Choose the right option given below.
(A) The statement | is correct
(B) Both the statements | and Il are incorrect
(C) The statement Il is correct
(D) Both the statements | and Il are correct

53. Find the missing number in the following
question.

an
e

(A) 127 (8) 238
(C) 31 (D) 217

54. A and B are standing at the same point.
They decide to move exactly in the opposite
direction to each other. Agoes 5 km East. Then
goes 7 km North, then goes 5 km West and
finally goes 7 km North. What is the shortest

distance between A and B ?
(A) 48 km (8) 118 km
(C) 38km (D) 28 km

Y18
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49.

50.

51.

52.

53.

54,

(A) TR (B*w

Q) T @g' za 71 T@)
Smaﬁwmﬁ@ (ST’ _

Tmﬁmmﬁﬁsﬁ 1 atateum f¥u

TR F G (

(A) T2 (8) afRIeH]

(cri=e (mgﬁ a

- :

:gqua%:ﬂu vt FRel witadd @ gahid

FA1 2

(A) srurrafz ofEds

()« TR FETTA

(C) Frmmanafirs aftada

(D) oft

T 5% e 8 @ fraa qufea wer R ¢

(A)- 5 (8) @i

(c) fazfim (D) FHt

T T HAEV FEA (TAUEHUEaT) % 4R d
freferfaa Fuat w famm &t |

|. T8 WA TN F qifead sl wrdwn

FEEA TATAS % d8d U T3 R |

. FEhl TaTe 1970 8 7 off |
Frefefiaa & @ wf fwes =1 973 =t

(A) FuA | HE R

(B) e | 3 1| 2] weht A # O
(C) == 11| B [ﬁ
(D & | 3t |1 31w &

Foa o, g s 8 |

an
&7/

(Ay 127
(C) 31

Aaﬂtaqmﬁﬁs

(B) 238
(D) 217

@R ¥ | uF gt F faege
mmﬁm*‘%ﬁﬁﬁm?ﬁﬂﬁ@ﬁ

(A) 48 Tt
(c) 38Tt




55!

56.

57.

58.

59.

61.

62.

if HEALTH is written as GSKZDG, then now
will NORTH be written in that code ?
(A) OPSUI (B) GSQNM
(C) 1USPO (D) FRPML

In PM KISAN Scheme, Government will %ﬁ
provide Exs
(A) Loans to farmers bank account
(B) Direct benefit transfer to farmers bank
account
(C) Insurance to farmers bank account
(D) Pension to farmers

How many days will be there from 22™ Oct. 2012
to 5" March 2013 ? (Both days not included)

(A) 128 (B) 131
(C) 133 (D) 132
A adds up various file characteristics

to produce a hexadecimal number.
(A) Melissa (B) Network mail facility
(C) Happy 99 (D) Checksum

Section 2 in Cr.P.C. defining “victim"’ as a person
who has suffered any loss or injury caused by
reason of the act or omission for which the
accused person has been charged includes

(A) victim’s guardian

(B) victim's close friend

(C) victim’s guardian or legal heir

(D) victim’s neighbor

Who is the current speaker of Lok Sabha ?
(A) Meira Kumar

(B) Om Birla

(C) Sumitra Mahajan

(D) None of the above

What was the period in which the
industrial Revolution took place ?
(A) 1750-1917 (B) 1750 - 1850
(C) 1745 - 1845 (D) 1650 -1750

Three persons A, B and C are standing in @ qUEUE.
. &.a nerennc hetween A and B and eight

2.

56.

57.

58.

61.

62.

HEALIA™I QORLUQ ITIEI 01 &, O NUK 1 H NI

form =g o formn smom 7
(A) OPSUI (B)» GSQNM
(C) IUSPO (D) FRPML

pM e aism |, TR Iuers wort
(A) Torart % ¥ @l #t Fm
(B)«fFaT! F o @ral § Feas A Haw
() farart & 3= w@rai =1 =

(D). foramt =1 deH

22 aTagaR 2012 § 57T 2013 7 fFeA
fem & 7 (3 fom e ¢ 2)

(A) 128
(C) 133

O a4
A

(B) 131 OE40]
(D) 132
fafir wrze st #1 &
FFETefte et 30T F & fu SEaT ? |
(A) aferan (B)* Feas Tt giaan
(C) #uft 99 (D) ==aH
Aol ) urm 28 Az AowE @ F
w9 & oforfia R @, PR S FE T 9 F
T B g 41 < ot R, fre o s
oo T ST =T T R, SE i & g
(A) difEa @1 st
(8) difEa =1 =il 3
(C)~fifEa =1 srfiniras @ FE! IAafuw
(D) ifEa =1 agret
HavT F FANH TG FAE 7
(A) HR1 FHR

(C) -t W

(D) 3IutEa ® | Hr§ TE

freferfiaa 1 @ v srafa & A shafs wify
7 o 7

(A)~1750 - 1917 (8) 1750 - 1850
(C) 1745 - 1845 (D) 1650-1750
drasufda A, B cuF i @ ¥ | Asfgy
dfta uta sufd 8 3 & s o8 =ufa & | 45
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i ircuit shown is
_ The emf of the battery € In the circul
- 15V and internal resistance 0.5Q. What is the

current drawn from the battery ?
2Q 7Q

15V [ :“

£

o.snl i

1Q

8Q2 10QQ
(A) 1A (B) 4A
(C) 2A (D) 3A
64. Soil erosion are more in
(A) Hilly parts (B) Desert
(C) Plains (D) Coastal line
65. is a key tool for the spread

of ID theft, luring people into

disclosing sensitive information
such as credit card numbers or
passwords.

(A) E-mail bombing

(B) Spam

(C) Cyber terrorism

(D) Cyber stalking

66. When a change in one variable coincides with
a change in another variable, but does not
necessarily indicate causation it is called
(A) Evidence
(B) Degree of freedom
(C) Significance
(D) Correlation

67. What will replace the question mark ?

(A) 18 (B) 19
(C) 20 (D) 21

68. Which of the following departments of the
Government of India will undertake the
Swachh Survekshan Grameen 20217
(A) Department of Drinking Water and

Sanitation
(B) Department of Economic Affairs

(C) Department of Health and Family Welfare
(D) None of the above

-10-

63.

67.

frgmmu Ry A A1 € &1 emf 15V 3 317
ofiy 0.5Q & | & A i e faga @ 7
20 70
15\{_]_8 EEGQ §§ 1Q2

O.SQT AAAA - AAAA
'B'S')'_ 1092 %%1
(A) 1A (B) 4A 220
(C)r2A (D) 3A
firdt a1 aTate arfere war @
(A) TR Wil | (B) wofar
(C)-Berht wiw & (D) &g el 7
aréd) It & fore o wEqul Sy 2,
N A ) e FHE T T HEE SNt G
SRR 1 a1 FA & forg gumar ? |
(A) $Ae wife
(8) &
(C) TR ATAFATE
(D) \TgaR wfehn
S& & W ° afEad W ¥ ofgdT & a
U @ R, S T 6 s i = @
HET A1 & |
(A)
(B) gmﬁ%:ﬁ
(C) we _
(D)-wEHaY
T R & wm war am ?
24 1@5 1@,5
3 3 4
(A) 18 (B) 19
(C) 20 (D) 21
frafafea d & wa e & FR-8 vy @=e
e qrfir 2021 FE ?
(A) e afR s v
(B) nTfifeR W@ fawm
(Cparee TE IRER Femor favmr
(D) 3 H & w1 e
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n | 69. Tl T HalfiE gva vy, Rrad smyfiE g &
is ’ unfa 2t st 2

(A) Wiferam

(B)evifa 1 farega

(lor  (C) Fraen

(D)mm Jy

-

70. UF w9 4 540 fFft i Tt w wA R |
27 1 ifa w1 fa @ At 2, 39 @ foerd fa
15 1 7T o A R | W5 o e A Freft gt

T wm ?
(A)eas0 ferdt (B) 500 fft
(c) 360 fept (D) 400 faeft
71, fara wTee HEA 3 9TE A 74 §
qifera) g witfta a2 |
(A) 2001 (B)* 2014
(C) 2020 (D) 3 & & #r§ TE

72, TN Wl wiE # T 1959 § e A
fred gram A A W ot 7
“(A) ®0 (B) STIH
(C) (D) St

73, n Fhs frem gl # sfed ¥ @ e
g ¥ 1/3 @ 12 o € | i | sifem @@

e
(A) 15
(B)e ST TAT T 8
(C) 17
(D) 19
4. Prad) 30 e (dfi) i fafire Revard & 7
(A) 7@ (B)* 2
(C) (D) &
. @HTat 41 80, 75, 70, F 2092 AR
(A) 550 (8) 700
(C) 600 (D)* 650
2010-11ﬁmvnﬂanm1{ﬁahawmm

7
(A) 2.25 ¥FeTT (B) 2.75 RE

D) 2.50 BFW
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Index is used to revise minimum

ges in Scheduled Employments. .
) CPI-IW (B) WPIHIW EL
) CPI (D) WP! aF o)

ynsider the following statements about basic
nctions of the Reserve Bank of India.

|. Regulate the issue of Bank notes and
keeping of reserves with a view 1o
securing monetary stability in India.

To have a modern monetary policy
framework to meet the challenge of

an increasingly complex economy, to
maintain price stability while keeping in
mind the objective of growth.

choose the right option given below.

(A) The statement | is correct

(B) Both the statements | and Il are correct
(C) The statement || is correct

(D) None of the above

Which word will come in the place of question
mark ?

Presume : Assume : : Assign : ?

(A) Request (B) Allot

(C) Replace (D) Proud

In Deacon’s process for the preparation of
chlorine is used as catalyst.

(A) AICI, (B) CuCl,

(C) ZnCl, (D) PbCl,

Election is held only for one constituency to fill
the vacancy caused by death or resignation of

a member is known as 3
(A) By-election (B) Post-election
(C) Sub-election (D) None of the above

An Economy in which there is both the Private

sector and the Government is known as
(A) Capitalist Economy
(B)

Mixed Economy

two
is painted and cut

ble number of cuts ?

identical by making

(B) 84

L EN-

12-

79.

80.

81.

82.

83.

(C) oA I el
(D) 3 H & IS Tel

v Forg % €U W -8 98 T 7
Wimttmﬁa:?

() 3 (B) A

(c) (D) ™
Tt ¥ fmin £ R afen 8 E2|
s:aﬁﬂ@m%amﬁiﬁm% l

A) AICI, (B)» CuCl —
(C) ZnCl, (D) PbCI: %}}é
gmﬁm%m&mgﬂ%%

¥ fou Faa

N ua fatem &m % forg g g
(A} qE-TSEEE (B) G-

(C) IU-TAE (D) I & & Fi A€

s stofereen Rl froft SR T A1 8
‘E(meg.
Mefma‘{.an
(B) ;E:Wﬂ?jﬂlm
(C)ﬁiﬁﬁ'ﬂavjsqa'{an
(D) Hﬁﬂ?f;ﬂahisqam
Sl U 5 T iren & 3 =Fan Fe e
729ﬁﬂmwﬁmmg,a}ﬁ§§
12 ghel T U A e B 7
(A) 72 (B) 84
(C) 66 (D) 64
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s To promote domestic cultivation of oil palm in
the next five years, new centrally sponsored
scheme is approved. It is
(A) National Mission on Edible Qils-Oil Palm
(NMEO-OP)

(8) Oil Palm Mission (OPM)

(C) National Palm Oil Scheme
(NPOS)

(D) National Mission on Enriched
Oils (NMOE)

g5. Read the data given below and based on it
answer the following question :
500 students of a college, 49% like watching
football, 53% like watching hockey and
62% ° like watching basketball. 27% like
watching football and hockey both, 29% like
watching basketball and hockey both and 28%
like watching football and basketball both.
5% liked watching none of the games.
How many students liked watching all the
three games ?
(A) 15
(C) 75

86. The information addedinthe _____ is not
visible while working with the presentation,
but will be available when it is printed.

(A) Notes master (B) Slide master
(C) Handout master (D) None of the above

87. Under the 7" Schedule of the Indian

Constitution, Police is under the .
(A) Union List (B) Concur’rent list
(C) Central List (D) State List

88. The operation of railways in India beg
07

Gww (A) 1853 () 19

r%% (C) 1859 (D) None of the above

i i db
89. |fthe circumference of @ circle is decraesaes?n It:
50%, then the percentageé of decre

(B) 225
(D) 200

anin

areais

(A) 25 (B) 73

(C) 50 (D) 6 i
9. In PowerPoint 2003 Normal Vier\:seentaﬂon

to see various aspects Ofe:he P

simultaneously in tabs namely ) and (C)

g) Both (A

(D) Neither (A) nof (C)

(A) Outline tab
(C) Slides tab

13-

X

1

7
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84, ﬁﬁﬁl@‘aﬁlﬂi@@?ﬁ%mqﬁaﬁﬁm%
(A) F9rren firem 31 ofsren srfgerE-stfeer T
(NMEO-OP)
(B) mmﬁ'ﬂi{(opm)
(C)ecFwrTes T 3ifee = (NPOS)
(D) et firem ¥1f1 wfteg sifse@ (NMOE)

85. fiel fau my zrer 1 v i 3w AR W
fferftaa we % 3w 3
fapeft FTert % 500 BT H, 49% Pl 3G TR
FA &, 53% g @1 768 Fd € 3l
62% ATEheaTe @1 T6E T &, 27% R
aﬁtﬁﬁﬁé@mm‘amg,zg%
afv w1 31 a1 TEe Fd § iR 28% AT
33n ATt 211 2@ TEe Fa €, 5% Hif ot

@%@ﬁﬂé@mmﬂﬁaﬂﬁ|

R fa e A e T R 7
(A) 15 (B) 225
(Cl75 (D) 200

86. ____ﬁaﬁs‘iniwmﬁmmm
W@ﬁﬂﬁﬁ@ﬁaﬂ%ﬁzﬁﬁ#mﬁaﬁtl
(A) FZE AT (B) TATES AR
(CJe ESIATIZ ARH (D) T & & Fré T
g7. W wfaum & 7 I &

agﬂﬂg%a___%;siaﬁamh
(A) T9 HA (B) Twadl gt
(C) e Tt (D) T
gg. W ¥ e &I FaTEH a9 g R |
(A)- 1853 (8) 1907
(C) 1859 (D) Iula H & g T

go. ufd foreft g 1 wftfur 50% 1 FH! I Tt B,
A 3ah et A o s

(B) 75
(D) 60

(A) "25
(C) 50
g0. uatdTge 2003 H A SRR
mumﬁﬁﬂ;ﬁmmmﬂﬁammt |

(A) HTIEETH 2@ +(8) (A) 3 (C) A=t

(C) TeTgEH o™ (D) A (A)T & (C)
Y18
la 6 { '

N ™

4
/

l

<D
/



it feh o

lish Laﬂ‘uage
enelt word in the following. 96.
91, Findoutthe misspe 70 &1 @1 gt |
(A)- Aerial
(8) Aircraft (A) a‘_"‘ﬁ :
() Airoplane (8) FH
(D) Aerodrome (C) qeteA
g2. Fill in the blank with appropriate phrasal verb (D), 37 @ FIE AT
from the alternatives given below.
The solicitors will _____yourclaimtothe | - g7, ereft warr 2 1@ & S A A 1321%@ ?7
property. T F1 IR R | @;E
(A)e see through (A) T
(B) see into
(C) see off (8) firf3ra
tFl e (€) 5w
93. Give the meaning of the underlined idiomatic (D) ¥ & 1S TE
expression from the alternatives given below L,
it. (understanding the context from the | 98. & 1AL I 2
sentence) (A) il
He moved heaven and earth to see his son (B) T
(8) bad and good days (D) 3° & 13 &
(C) to accomplish 2 tasks in one attempt
(D) to be doing too many things at one time 99. (,) 7@ faom o = FEad
94. Complete the sentence using appropriate tense (A) 31eq fam
form from the alternatives given below it. (8) ot forom
When Mrs. Smith _____ the baby cry, she (C)-31d fam
(A) heard ' (B)* was heard q T
(©) haddidend (D) hears 100. ﬁmmtm“mmm{;
ok with mroprlm form of the % wea
s given below. farder
kbt im (B) wdam
(B)+Cry up (C) fiwn
(D) Cryoff (D) w1 & w§ et
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